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Problem 1

-(t) = A cos(wt- p)

a) 2 cos (3t)+ 2 sin (3t)

A=22
D= tan"

= 25 = E4

k
A cos(m +- 0) = Re (Ae-)

= Re (eitA)
= Re (cos (wt)+isin(ut) · (a - ib))

: f(t) =2 cos (3t - EP)



b) Ecos(xt) - sin(xt)

A=12
D = tant

= 2
= 2x - E
= #

: 2 cos(It- 1)

c) cos(t
--) + Sin (+ -=)

= costcosz + sintsin + sintcosty
- cost sin

= cos (cost+sint) + sing/sin
+ -10 , t)

, 1

2

= E



Problem 2

Sin

Sel since (x =Im(e)

=(Im()(
+

~))dx (2+ i)x

E

=is = e? (cosx+ Isinc)
cik)

= e
*

cos +
22sinc

zei= =2 (SIC+since)

-Le= (os + isinc)
=> Im (e) = &Cuisinic-Icos)
=2 sin-loss)



= ↳sinGeos


